Seat No. :

JL-120

January-2021
B.Sc., Sem.-V

306 : Chemistry
(Chemistry Practical)
Time : 2 Hours] [MaxiMarks: 140
AAAL: (1) OHUAHL RBAUA L HRIA 6.
(2) (Ao (70 281 244 [dewat-11 (70 2pa),
(3) (et 1l slefuet 35 WaAlAL el 2L M. 120 50.
(4)  [AGWL-IT AL 51581 35 WAL ov=uoL 2404 W 51 21l 100.

ﬁﬁuﬂl-\[_unarganic & Physical)
Lo el s ded 2uls HO AL er3il H,S(g) R szl aestasls saimy 2aniq 20 ¢

(a) 5143 (b) sl (o) BBt (d) B L () As

2. AucHs [PANRRHL, AgC/ AL A8 HE NH,OH Glzaell, =211 5280 2010 .
(@) ARAA/RUERH Bl (b) SlASsu/sella |
(c) gl (d) 1l D (e) @izl 1S A

3. 2AdEN HOgd 12 AR 5L ol awuy S 2 |
(a) 2UAAISREAL UCULAL < gledcdl S (B)  2{lEReL AGUAAL > L1l DARUNS
(c) 2ils2Al AciaAL = gleadLAnis o (d) AR50l ACULAL> g1l 2HA0IS
(e) eaAlszerl AcuaAL < Sl RIS
4. = slEeny, ollRas, el BRML PO ¢lorR Gl dl, @l 541EL |2 HCI ¥l <196
Al Whal 514z L 3UIAR 39 Y33 © sROLS
(2) H,PO, -l 221 523 22 W2514 B. (b) UL HCI L 2%l 85,
() HPO, Alzudlig@m 222225 8.  (d) H,PO, -l AL 563 232 242514 6.
(e) =il 51 =il |
5. il vsEL gl AL ot oL 2@l R B3 elld AU S ¢

(a) Ca** (b) K (c) Na' (d) Sr (¢) Ba®!

6. oetlaiarizbedl sl 2RI A asRel 12 Gy a6 ¢
(), [ @B RS2 (11) SldeL (b) 2feet aeiuaH2 sl
(c) M2 2w 2L s gl (d) Arer wkus

(e) &L gl
7. Al s uBasAL Gweldl SO 2 w1 CI' £ S W2 ALS ?

(a) BaSo, (b) PHNO,), () NaOll (d) KOH () PbNO,),
8, ol UFletorl Sr'2 2 K 5L MEIRAL LU ¢
(a) [y ald, modl (b) 52 wdl cl@, aotel
(c) aandl, Buud ad (d) adotel, 2 vl cua (e) e, dlal
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10.

11.

12,

13.

14.

15.

16.

e

18.

19.

20,

21.

22.

ot 215100s Bzl wellil 2ieusien 121, dl 5UL R RHASAL 2R €12 © 2

(@) CI"' 214 CO,™ (b) CO,2 1 Br!

(¢) S2a4Cl! (d) CO,2 87 (¢) Br! 24 §>
QEUll olR51 Husl {12 Hdd L 2 6.

(a) oA (b) sloue @) sl (d) [sa (¢) AeyfilAun

oA NH, ' 21510{(F5 Gl €1, dl NaOH 1@l B drH s2dl 314 Bgeid
(a) 5lol SRARUSS(b) SElRA ©) AU (d) sl (e) Aesis
Fe'3 i (Reitas ulaiel 6.
(a) KSCN gl GHEIA 244 auguil a1 [A2lawe 539
(b) KSCN g1aul Gzl 244 dldl ae 1 [Rlawel s34
(c) NaF gletdl GHRY 21 Al 21 244@ls 539,
(d) HCI GRq 24 56 AL a5 59,
(c) HNO,GHe 2 e 31 2Aclls 539,
UL G461+ DMG + NH,OH @l 2idiid 240, dl sAlu-ARsiar <2l 7
(a) Zn* (b) CO*™ (c) Fe?* & (dNi* (e) Cr*
sARISS — GlESs — ARSISs Disollondl ol SUlZLBRRUA S HEHEs AR Aol
A Al G 24 6 2

(a) CI? (b) CI'' & Br! (c). Br' (d) Br, (e) I
AHE 111 - B uARA A 3% 22N s3I 6.

(@) e (b) Afzg (o) seliRz  (d) RS (e) EREA
SIGH STRUSEAL 2L  UHSHI A 8.

(a) I1(B) (b) LI(A) (c) 1V (d) HI(B) (e) V(A)
V(A) qyeuulbasd 8.

(a) NIH,Cl+ NHzQH (b) NH,CI+NH,OH + H,S(g)

(c) NH,CI+NH©OH #(NH,),CO, (d) NH,Cl+NH,OH + Na,HPO,
(€) NH,@L+NHOI + (NH,),C,0,

Ca*?/Ba*?, Srt? UHEHLE1YR 89,

(@), INB) (b)) IV (c) NI(A) (d) 111 (B) ) V (B)
slziAidl 52 200 2o 6 ¢

(a) WisO,  (b) NaCl (¢) MgCl,  (d) ALSO,), (e) BaCl,
gyl 213 53l 54l et BIR Brediart el el ¢

(a) NH,"! (b) Mg"’ (c) As" (d) Sb" (€) Al ot oy
{[7] 520171 5L HLHEAS A HI2 AL 21 6 ¢

(a) CI (b) NO;' (c) Br' (d) PO, (€) I'

BO, wileorl sl ulbas-l Gualo a6 ?

(@) C,HOH (b) IINO;  (c) DMG (d) CH,COOH (¢) CH,COOCH,
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23, RRLARUSESS WRAL Gyl ALRIEARL M2 2L 5.
(a) 2ARASH  (b) @R (¢) 2GRS (d) Bsruasdl (o) iU

24, 2AREs AR g1 @2+ 6.
(a) (G 2RSS (b) B(EE3 s1011A2
() BlErpy AR (d) BlERa s RS (¢) slEaret sERLEs

25, Ol WALl AR s 53 UGSl 2L AL ¢ &
(@) W2lelRz  (b) 2ztelRz (c) olR2 (d) 20l ==z (e) flr;.'ﬂ?aa\

26, BR{lsA 4R ol GIRAB 2 dl pH i 2 53412 A6 ¢

(@) sl gaeHlpH a2 &, (b) dlsALstael pit a &,
(©) SRl siol pH RN 2 6. (d) DR{lsAl sl pH 2= o ©.

(e) syl A<l

27.  KBrO, 24 KI @22l s 21 53 -l s 8.

(a) LU (b) M2 (c) (sl (d) ol Bl A
28. pOH - u¥lsz01 9] € ?

(a) pOH = log [H] (b) pOH =log [O

(¢) pOH =-log [H7] (d) pOH =-lo (c) syl gl

29. sl gleddl BuR dii-A-l AU 4 8 ¢
(@) Al Hdl YE12dH] gledl 98 6. 9
(d)

1 el WERHL sl B2 ©.

(c) el glect Gz darit--l 518 R4 i AT

(¢) L oL %Y

30, H,0, 2 K1 Al ubarigmi Baasll it 21el S 8, AR ‘a” 24 b Al Bl
545 il ¢

(a) 125 & 625 (b) 62

31, AR 55 W@ 6 7

-

25 S0&25 (d) 25&12.5 (o) 2AsusiAel

01 M NaCl - 4143 DR 8.
2 0152 glabt (L3 - 7, 4 17 9.2 M) DR S.

(b) 107 ov2cll

gl A, (d) 10" sl 26l (€) 107" sl ey

33, il B [eler pramnis-l Bud b2l & ¢
(a) 1.6 x10°" (b) 16% 107 (c) 1.6% 105 (d) 1.5%x10% (e) 1.5x 10-3

34, s AASAL WAL A2AL oL, wBasil Gua szl A 5@ 56 100 mi 2 dl WA
Buael- 526 56 @A 2t 53l w1 5 ¢
(a) 10ml (b) 20 ml (c) Sml (d) 25 ml (¢) 50 ml

3
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35.

36.

40.

41.

42.

43.

44,

485.

46.

. -
HBrO, i HI (a = b) @3-l w2l 2Rt s34l WP

OB d g euld e ? H
(a) W G sndls. (b) N2 gl sH-HL .

(c) By 53l 8. (d) Wl s3-ALS. (e) sl Al
K,S,0, A KI (a # b) @224l w2l et s34l L lord LS K - 204l5200 46 7
2.303 b(a — x)

—s time (1) -l 2% ?.f:htl

X

(a) K= |

a.t (a—x) (b) }‘_l(a b) log a(h —x)
ga h—
(c) K= ﬂllz = (@ K==2 ' ~ log (c) AEdEL A<
QesdlFild-l 254 .
(a) Mv (b) Amp (¢) Ev (d) Kv (¢) mho
H,0, 2 HI 921l w5 Us 2L . |

(2) DB —As(b) 2WIBR () 2B (d) 2dlat u[%m (e) AR

Cu*? saE|B1a wallori el Be2-l ddous 946 ?
(a) 470 nm (b) 420 nm (c) 570 nm (d) 620 nm (e¢) 750 nm

Ag' 2 Pb* Al 22l H 25 A{HIMA E3341A 2L GG &R A, D4R .
(a) Saturated KBrO, (b) Saturated NaCl (c) Saturated KCI
(d) Saturated KI (¢) Safurated KNOy

SLo3\6l4 (abso rbance) 5t5 Glleid GURRAIR 204 £ 2
(i) gotel (ii) el Algdl (i) ddHiA

(a) (i) 2 (ii) @i (b). (@) 24 (iii) o ©) ()

(d) (ii) (c) (i)

21412 5a 324121 ollon sUHERIL 2AWPALES 2

(a) % 2l=4+Hl2~ (b) lmeL () (Al aussdl
(d) [A34at dlesdt | (e) fazivel

seElilzzd s ARG YR 2R 8.

(a) 2z Al Rigld (b) ‘A5l Rigld

(c) adiz-ollER-Al Rrgld (d) Al Rugid €) el Rugld
FESQ,(NHY), SO,.6H,0 21 KMnO, 2al-{l ufbani sl 31ssei-t 2 € ?

(a) 2N HCI (b) FeSO,(NIL,), SO,.611,0

() KMnO, (d) 11,80, (e) isueL -l

geEl{lzzAL AL £330 1Rl Algdl Ll -‘cyﬁtll HOLES 2
(a) % zlflzadqe @2 6. (b) % 2HlUL YU RN RE B,

(©) % alfleruq e ad 6. (d) 2o (¢) suuL -l
a3l lzz wriltid (calibrate) S3el 53 1461 QIR E ¢
(a) 4s5BLgtaeL (b) 22ls 4lael () Oi5R 414l
(d) R alael (e) WHilbid glqel
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47. SN AANISAL 25 AL 8 9

(a) Cm (b) Cm™! (c) Meter (d) Milli meter (e) Decimeter
48. [RRR 2AdRuAL 2R s 6.

(a) 4Rl (b) S\M NS (c) e dlssdl

(d) (Al diesdl (e) AMEL dlesdl

49. [REW® dssa MR AR LS ¢
(@) AR desdl = qea diesdl x WaR diesdl  (b) [l aesdl= [l AR x 514 RS

(©) RRR aesdl =1l dsisdl x sS4 20 (d) AGY assdl = Hel adsdix 2RI
(e) sl ¢l
50. ~llA-uniadl 3 ey Al ?
(a) 2U25a 302 g1l Uigl-AL ADLURAL B.
(b) U5 302 w1l AUigcli-Al e WHISHI 3}

(©) % zr0{lzt g1l AigdiAl 2R WHIRL 3}

(d) U502 % 2RA{Z-UAL 2R WHIHLB.
(e) O.D.=2-log%T

[Reudt-11 (Organic and Analytical)
51. A1 As| sA AR s1falls 9

@) Rualis 2ARs (b) WSESs ARS
(c) UsAl-ls Alus d) 2028 AR (&) 2\Bis 3R
52. w2 BllesellA deuoll v 8.

(a) €23 ®) AR, (@) aRPpd (D) el (e) il ivll %
1. AR 2 AriSs SR st Bl 21 sl el a2 weld 8.
@) sBPRudl  (b) wkése (© [R2is (d) Gecduid () JTH2UA/EREL

54. AR 2ARIMR = dRIBIR X |
(a) UMHAAL (D) ol (c) MalRél (@) wH/ @2z (o) il $1 ¢l

55. srZlusl »i il Rigid uR 2AURA 8.
() Fdbe (i) % eA [Qetor-
(a) s5(1) (b) %5 (ii) (©) DR (d) & Qpiellad (e) Lot %
56, orsIsn slZ] el (Raifas s 6.
(a) Feuse 42 (b) 2Ax2R (¢) 2W&Ees (d) 2RRSSs 2iRtA(e) SARISS AR

&7, Azl AU Aal2-llauss-l otttz il Agilas ey S-A 2 WO ey 4-2m B, dl %

B eyl el 53\, n
(a) 80% (b) 75% (c) 70% (d) 82% (e) 65%

' ' W 6.
58,  Sl2lA-AL il 11 ml IN HCI G, iy 652\
(a) AR (b) &gt (©) el (d) el (e) AR

59. 0.1 NNa,S,0,0.IN I, RA UM UERA 6.
(a) RS 6216; (b) slel Bl (¢) ARASHZ  (d) AR (e) WAt
5
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60.

61.

62.

66.

67.

68.

69.

70.

i

A 2-a51 Olofladl UL s4nt A dl, ol-sfla-ol-ods BBl otz HE Agils
Alor-l 2161zl 521

A-la-l ZARLCIR = 210 gram/mole, ol-olells 2ARLSAL ARIIR = 228 gm/mole

(a) 2.17 gm (b) 1.085gm (c) 21.7 gm (d) 0.85 gm (e¢) 0.79 gm

25 Buell wauldia 0.1 N usadl-lls 21Ris-, b eslruss-Al X' N glaul el A
s2ctl 21 Big 24.5 ml R Wi B, Al AR el sl sl 00ned o 23l

(a) 0.0008N (b) 099N  (c) 096N  (d) 0.098N () 0.0096N
RCOOC,H, + NaOH — + gallel

(2) AR A B2 &R (b) stoilsRillas AR

(c) 1{lZls AR (d) e 2il2 () BRuSa Hailz
UL Azl AR AlaSsl olidz Al B Gyl 21 65,

(a) wnldeur- (b) 2URBUA  (c) st (d) ASHUA  (e) Al2uUA

100 Hlell WG 0.1 N usadl-ls 2AR1s giqel R s iz A usls ABLs
o33 9. |
(@) 0.059gm (b) 0.0059 gm (¢) 0.59 gm (d) I'18gm (e) 5.9gm

{2l sl A1fge H{oud AL A4 B 4
(a) 9=l (b) ALl
(c) ¥zl (d) 2A-leusariel a8 () il 515 A<
A\l Zn 24 2215 2ARLs WA oM 2l luor WAL S,
(a) -AS21 oA (b) SRS
(c) Az 2{PAlas & (@) R{BAlas (e) 2Rl
Al 192 SRR AR ERRNA ML 200ud21 UL St ddl ulba s 531,
(a) “Al(as ik B RSz wrAlenss (c) St Rl
(d) olrle 241214 ' () AL ol AL A€l
Al A2l 77 WA AR AL 230890 AL 2l 1 Al WBAIAL AR REE 53 :
L dl=zlassiByd o 1. WR-A2IRRAleusds
1. sRizdlaess IV. siol-ola 2R{214

(@) LIGHT S b) LULIV () ILILIV () LILILIV (o) iRl slef A<l

TEC WA 2195 51 51U (2 6 AL 8 1A Qs gRL sl AR 5 AL S dLRS
e = :
(a) 0083 (b) 0.833 (¢c) 1.2 (d) 0.833cem  (e) 0.120 cm

Al Guatlat Axllen weilui udl élaell ureibic 6.
(a) w7 1s Qil'i'ell&,tlu... (b) 212{121% 21[RL (¢) ez 1de sAlRIES
(d) 2Rz () @R{lz11
HLSSE21 U UL 6,
(a) obilells 2R (b) uusisid (c) olila
(d) 2 o2l (€) Sol-oi A1 '
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72.

73.

74.

75.

76.

77

78.

SIolBIE WAl Hi2ll oMl 2R 6.

(a) “lsife 2iesidia 213 AR (b) AU 1 2 sifrlleude 121

(¢) oAla 24 AR\ (d) A-oslestss sARSs 247 silade S5
(e) Q‘-D‘m?a'ﬂ-l A SISl e £121
S1214 WRaM A ) 33

(a) %}l%hilﬁdl Y2UL50) (b) AR yusse
(€) ol 2ALUNNZ 247 2R FOECELE] (d) sl yaussul
(e) izl 5185 A<l

TLC MU £145 4R1SUAE 2R 6 A3 244 RF{ %€ 0.75 B, dl g1 4121 5uiBle] iz QL.
(a) 4.5cm (b) 0.45 cm (¢) 45m (d) 5cm (¢) 0.5¢em

2.75 gm ARe-leudsiall 2.4 gm W1 S ARRAeuss w2 8, o Agilds Aoy
3.6 gm €4 dl MBS Ayl apaid] 530,

(a) 50% (b) 55% (c) 60% (d) 66% (e) 70%

$18 Clroslel AR otz M2 Ul eTsAL B2 el MieU RIS 9

(@) 52¥d  (b) 3:1Ma (¢) 1WA () 20E (o) 124

R 21T %1941 WAAL 2L 21 Big ®.
(a) UGVl 3 B (b) cusuilel WLl ulkad
(c) Mol _LEvIy (d) dqeuell 1L e (¢) odotell LB WAL

SISSIRALETS oflon 2lesell Nea SiSIEALSS 53l S Floyus 6.

' (a) ANeHI[AuH (b) [El&uA () MRRwaM (@) WRun &) Bis

()

80.

81.

82.

83.

84.

Wk’ W UL £ M 2R Aoy 6.

(a) (R2am4  (b) [Aalud (c) Aprila (d) YA:RA-AL  (e) UHE2Sl
PRIA 1A AASs AR B U Gere 8.

(a) 2ABRZUA (b) RAsett

(¢) SIS MR (d) $3rAUA/UelAA (e) [Qrauv-

TLC i RorgeuSian Wiz 521 -l GuebdL 2 6 ¢
(a) KMnOg 21RlSl-; 222 FeCl,

(b) KMAO,, 2pildlA, a2 FeCly, el

() iellSl, 232 FeCly et

(@) Bromine, KMnO,, #1eldl, czzed FeCl, et
(e). Bromine, KMnO,, a21lSlA, d22 FeCl,

N[ iz s M6l Gualla i © ¢ :
'([:)‘Cafiﬁz & . (b) elHpugs (c) Wel-dzad) Rlasiva () 2UCY

Souslel (2L 2N 1000 ml IN NaOH = UM DIRER.

(a) 88¢g (b) 8.8¢ (c) 0.88¢ ) 0.088g  (¢) 0.00088 ¢
' ' Rt 8.
223 2AAHMA Al Rigid YR 21
2) 0{"3@3&“}2@[ - Na/lil[%an ﬂ[;ilt':w () e
c) ARRs (B (d) mue:c o\ e
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85. SIS clrosie 21214 R 2l Wi oix ASREL 6 9

(a) 3 (b) 6 €) 7 d) 9 (e) 10
86. s1t5 Glrosiail olldz {2 UL glas-l Gullan 2 6 9

(a) ARALs AR (b) SRa 2e88le

(c) FEua (d) ol-osifeSeless (e) 2:{2\
87. NaOH-l 13101l 4551 531 HI2 52 WE1dA MHUBIA g1 Lt i 24 S ¢

(a) FeSO,4MMCld s1auL (b) AA-s MRS Wi g1

(¢) KMnO,MHSid g1aL (d) 2ARNLAL UHUBGA g1t

(e) EDTA MBI 14l | .
88. NaOH [d3g HC/HL $6MIMS YALSOML 521 JUS LRI S ¢

(a) I (b) ¥.0{l.2l

() sllesAel (d) SWkSe 238 (e) el ARy
89. shH2IAElHL Gyl AL £5.

(@) €lovR 4251l AvAL MRl HIE2 (b)) AU AA S Sl W2

(c) Aol gygaimedl e (d) UBu-Al wIUR e Wi (e) U otuLoy
90. HRR-leudsl qis HNO, & H,S0, & ubu 1 GelerRL 8.

(a) SrsiRP0 Ask QRN (b) dasA 2zl 2Aiefle uBau
(€) SsiR0l Qtella ubau (d) iz Bl
(e) Al 2R ALY (214

91. TLC @2 W g4 ALSIRVL GYR U2 6,

(@) 2tfladvel  (b) el (o) wusdel o (d) ¥Rl (e) UUSHLL
92. TLCH Ml azs) AL AR 9203 5.

(a) 2RCIR  (b) E-Adl (e) sl (d) yellual () sicdell
93. 425 TLC @2 YR 33542l GuR e 6.

(a) ydly (b) 2yl (e) ad (d) Ml (e) Ay
94. Rf= 50¢ iz

() ®2s5/a14s  (b) 4las/B2s  (c) U2s/sled  (d) sleu/Hes  (¢) Wwil/us
95. AR =15 L B S,

(@) 2RURA (b)) Wik () Soplit  (d) SARRMA  (¢) 2Ariiell 515 ¢
96. RURA_ o Sl 2dlzida oycua 6.

(a) olablefs (b) 2Als0iclls (c) AdlRul&s (d) Rials (e) WSS
97. WS ARSAMRIEUR d-i qeaeuR 6.

(a) veel % (b) skAlOBG) (c) SRl (d) SRl AL AR (e) SRl AR AL

98. JAAWHZ oML AUl %145 0.

(a) Mleta 5% (b) Ul uouell (c) Seypiz (d) JdEUR (€) Lol oy
99.  istict ARISAL AAREUR LMAIAL UM YA AR B

(a) w2l (b) SRS 0Qs 2]

(c) [reude 213y (d) slHlas(& &) Rruda s

100. 2UsAcls VRS AYUAR 126 ut/>A B, A4 IN 1 [Rer ovella giqwl oi-idl 326l

21153¢lls AR A2 ¢
(a) 63 (b) 126 (c) 12.6 (d) 6.3 (e) 16.3
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Seat No.: 06

JL-120

January-2021
B.Sc., Sem.-V
306 : Chemistry
(Chemistry Practical) |
Time : 2 Hours] [Max. Marks : 140
Instructions : (1)  All Questions carry equal marks.
(2) Section I (70 marks) and Section 11 (70 marks).

(3) Answer any 35 questions from Section I — Q. No. 1 to 50.
(4)  Answer any 35 questions from Section II — Q. No. 54 to 100,

Section — I (Inorganic & Physical)
.. Which of the following is not precipitated as sulphide by passing H,S(g) in presence of
conc. HCI ? . -
(a) Copper (b) Calcium (c) Cadmium (d) Mercury  (e) Lead

2. In qualitative analysis, precipitate of AgC/ dissolvés on addition of dilute NH ,OH due to
formation of

| (a) Amalgam (b) Colloids (c) Complex (d) lons (¢) None of these
3. To obtain precipitates, which of the followingelation apply ?
(@) LP.<Ksp (b) IP.>Ksp (c)al.P.=Ksp (d) LP.> Ksp (e) LP.<Ksp
4. If PO,™ is present in the salt of Ca, Ba and Sr then before preparing solution in HCI for

flame test it should be convérted in the carbonate salt because
(a) formation of H1,PO, prevents the flame test

(b) they are insoluble in#M€l

(c) formation of HPO, prevents the flame test

(d) formation of H,POy, prevents the flame test
(¢) Nonc of these

5. The salt that imparts efimson colours to Bunsen burner flame in flame test is

(a) Ca* (b) K (¢) Na' (DS (¢) Ba**
6.  Whichof the following reagent is used for the test of ammonium ion ?

(@) Potassium hexacyanoferrate (11) solution

(b). Patassiumthiocyanate solution

(c) Petassium iodide solution

(d)Nessler reagent

(€)= Fehling solution

7. Which reagent is used to remove SO, and CI'" 2

(a) BaSO,  (b) Pb(NO,), (c) NaOll (d) KOH () Pb(NO,),
8. What type of colour will be given by Sr*? and K*! in the flame test ?
_(ay " Crimson red, violet (b) Brick red, violet
(¢) Violet, Crimson red (d) Violet, Brick red (¢) Violet, Green
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9, If inorganic mixture is partially soluble in water then salts of which negative radicals are

present ?
(a) CI"!and CO,™ (b) CO,2and Br”' 2
(¢) S?andCl (d) CO,?and S (¢) Br'and S~

10. Blue borax bead is obtained with , _ o
(a) Zinc \(b}-Cobalt (c) Chromium (d) Nickel (¢) Aluminium

11. If NH,*' is present in inorganic mixture, on heating the mixture with NaOH,____ gas
evolved.
(a) Carbon dioxide(b) Chlorine  (c) Ammonia (d) Hydrogen () Sulphide
12. is the confirmation test for Fe™,
(a) Adding KSCN solution and observing a blue colour
(b) Adding KSCN solution and observing a blood red colour
(c) Adding NaF solution and observing a red colour
(d) Adding HC/ and observing a white precipitate
(¢) Adding HNO, and observing a red colour
13.  Onginal solution + DMG + NH,OH to give red ppt, which cation is present ?
(a) Zn*? (b) CO*™ (c) Fe* (d) Ni*2 (e) Cr*?
14. Chloride — Bromide - lodide in presence of each other test, which radical first evolved as a
violet fumes ?
(a) Ci! (b) CI'' & Br! (¢) Br! (d) Br, (e) T
15. Group 111 — B cations are precipitated as ;
(a) Sulphides (b) Nitrates (c) Carbonates (d) Chlorides (e) Phosphates
16. Chromium hydroxide is precipitated in group .
(@ I(B)  (b) M(A) < () IV (@ M@®B) (&) V(A
17. 'V (A) group reagent are ;
(a) NH,Cl + NH,OH “ (b) NH,CI + NH,OH + H,S(g)
(c) NH/(Cl+NH,OH+(NH,),CO, (d) NH,Cl+NH,OH + Na,HPO,
(e) NH,Cl+NH,OH + (NH,),C,O,
18. Ca'?, Ba*?, St*2 present in group.
(a) II(B) (b) IV (c) II(A) (d) II(B) (¢) V(B)
19. Which of the following is coloured compound ?
(a) NiSO, (b) NaCl (c) MgCl, (d) AL(SO,), (e) BaCl,
20.  Which positive radical salt does not give sublimation on heating in dry test tube ?
(a) NH;"! (b) Mg*? (c) As"] (d) Sb*3 (e) All of these
21. Ring test is performed for which negative radical ?
(a) CI (b) NO,™ (c) Br! (d) PO, (e) I'!
22. In BO,™ test, which reagent is used ?
(a) C,HOH (b) HNO, (c) DMG (d) CH,COOH (e) CH,COOCH,
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24.

26.

2,

28.

29.

30.

31.

Sk

33.

34.

Starch Iodide paper is used for the test of :

(a) Todine (b) Chlorine (c) Oxidising agent

(d) Reducing agent (¢) Ammonia

The compound insoluble in acetic acid is

(a) Calcium oxide (b) Calcium carbonate

(c) Calcium oxalate (d) Calcium hydroxide (e) Calcium chloride

In borax bead test, which of the following compound is formed ?
(a) Meta borate (b) Tetra borate (c) Borate (d) Ortho borate (¢) Pcnta borate

What changes occur in pH if base is added to acidic solution ?
(a) pH ol acidic solution decreases. (b) pH of acidic solutien increases.

(¢) pH of acidic solution remains constant. (d) pH of acidic solution becomes zero.
(¢) None of these |

The reaction between I{BrO3 & Klisa order reaction.

(a) Zero (b) First (¢) Second (d) Third (¢) None of these
What is equation for pOII ? :

(a) pOH =log [H*] (b) pOH =log [OH]

(¢) pOH =-log [IT"] (d) pOH =-log [OI7] (¢) None of these
What is the effect of temperature on solubility.of the substance ?

(a) Solubility of substance increases with/increase in temperature.

(b) Solubility of substance decreases with inercase in temperature.

(¢) There is no effect of temperature on solubility of substance.
(d) None of these

(¢) All of these

In the reaction between H;0, & KL, when concentration of both the reactants are different,
the values of ‘a’ & ‘b’ will be

(a) 125&62.5 (b) 62.5& 125 (¢) 50 & 25 (d) 25& 12.5 (e) None of these
Which is correct of the following ?

(a) 0.01 M NaClsolution is used to calibrate conductometer

(b) Bufler solution thaving PI1 - 7, 4 and 9.2) is used to calibrate PH meter

(c) Acidic wateris used to calibrate conductometer

(dy"HC/'solution is used to calibrate colorimeter

(e) "All of thesé

What 1s the correct concentration ol OH™ for basic solution ?

(@) lesSthan 107(b) equalto 107 (¢) more than 107(d) less than 10 (¢) more than 10

What is the value of dissociation constant of acetic acid ?
(a) 1.6x10* (b) 1.6x10° (c) 1.6x10°3 (d) 1.5x10* (e) 1.5x1073

How much volume of reaction mixture i1s taken for utration if the total volume of the
reaction mixture is 100 ml due to the mixing of all the reactants of set in chemical kinetics
experiment ?

(a) 10 ml (b) 20 ml (¢) Sml (d) 25 ml (¢) 50 ml
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38.

39.

40.

41.

42.

43.

44.

45.

—s time (1) in the experiments “To study the

What indicates the straight line plot of (a—x)

reaction between HBrO, and HI (a=b)" ?

(a) Reaction is of second order  (b) Reaction is of third order
(c) Reaction is of zero order (d) Reaction is of first order

What is the equation of rate constant K for the experiment “To study the reaction between
K,S,0; and KI (a #b)" ?

(e) None of these

. , 2303 b(a — x)

(ﬂ] h_&l (a_x) (b) ]\_l(a_b) Iﬂg a(b_x)
1 b—x 1 b—x
R ——— c af these

(©) K al a—x (d) K a.t log a—Xx ©) 40" @
The unit of conductance 1s :
(a) Mv (b) Amp (¢) Ev (d) Kv ~(e) mho
Type of reaction between H,0, and Il is
(a) Acid — base (b) lodimetry |
(c) lodometry (d) Redox reaction (¢) Complexometric

What is wavelength of filter used in the experiment ofCu™? ccilorim'cu'y ?
(a) 470 nm (b) 420 nm (c) 570nm £ (d) '62_0 nm (¢) 750 nm

The salt bridge used in potentiometric titrations of Ag* and Pb* is made up of ;

(a) Saturated KBrO, (b) Saturated NaCl (c¢) Saturated KCI
(d) Saturated K1 (¢) Saturafed KNO,"

ON which absorbance depends ?

(i) Pressure (ii) Concentration of $olution (ii'i) Temperature

(a) I?nth (i) and (ii) (b) Both (i) and (iii) (c) (1)

(d) (ii) (e) (1)

By which other name optical density is known as ?

(a) % transmittance « - (b) Absorbance (c) Specific conductance
(d) Absolute conductance (e) Adsorption
The working of ¢olorimeter is based on

(a) Law of gravitational force (b) Plank’s law (c) Lambert — Beer’s law

(d) Graham'slaw (¢) Einstein’s law

The reduetion of, is obscrved in the reaction between FeSO,(NII +)2°0,.6H,0 and
KMnQ, ?

(a) 2N HCI (b) FeSO,(NH,),S0,.6H,0

(€). KMnO, (d) H,SO, (e) None of these

Whatis the effect of increase in concentration of solution during the colorimetry
experiment ? .

(a) The value of % transmittance decreases

(b) The value of % transmittance remains constant

(c) The value of % transmittance increases

(d) All of these

(e¢) None of these
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46.

47.

48.

49.

51.

2.

53.

54.

-, 8

56.

S8.

Which solution is used to calibrate colorimeter ?

(a) Working solution (b) Stock solution (¢) Buffer solution
(d) Blank solution (¢) Standard solution

What is the unit of cell constant ?

(@) Cm (b) Cm! (c) Meter (d) Milli meter (¢) Decimeter

The inverse value of specific resistance is called :
(a) Resistivity (b) Cell constant (c) Equivalent conductance
(d) Specific conductance (¢) Relative conductance

Which is correct for specific conductance ?

(@) Specific conductance = equivalent conductance * molar conductance
(b) Specific conductance = specific resistance x cell constant

(c) Specific conductance = observed conductance * cell constant

(d) Specific conductance = observed conductance * resistance

(¢) None of these

Which is not correct from the following ?

(@) Optical density is directly proportional to concentration of $olution
(b) Optical density is inversely proportional to concentration of solution
(¢) % transmittance is inversely proportional to conéentration of solution
(d) Optical density is inversely proportional to % transmittance

(¢) O.D.=2-log %T

Section-II (Organic and Analytical)
Which of the following is dibasic acid 2

(a) Cinnamic acid (b) Citricacid (c¢) Succinic acid

(d) Acetic acid | (e) Formic acid

Phenolphthalein turns pink into medium.

(a) neutral (b) acidie (c) alkaline (d) water (e) All of these
The best method for the separation of Naphthalene and Benzoic acid from their mixture is
(a) Chromatography (b) Crystallisation (¢) Distllation

(d) Sublimation (¢) Sedimentation

Molecular weight of Acid = Equivalent weight x

(a) Nommality . (b) Basicity (¢c) Molarity (d) gnmv/lit (¢) None of these

Chrematography is based on general principle of .

() Adsorption’ (i) Partition between phases

(a) Only (i) (b) Only (ii) (c) Both (i) and (1) (d) Phase addition (¢) All of these
Jodeform is confirmative test of” group.

(a) "Mcthyl ketone (b) Lster (¢c) Aldehyde (d) lodide ion

(¢) Chloride 1on

Theoretical yield in the preparation ol p-nitroacetanilide is 5 gm and practical yield is 4
gm. Calculate the % practical yield.

(a) 80% (b) 75% (¢c) 70% (d) 82% (e) 65%
On addition of the 11 ml IN HCI in the estimation of ketone, gas 1s liberated.
(a) Chlorine (b) Hydrogen (c¢) lodine (d) Bromine  (¢) Fluorine
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59.

60.

61.

62.

63.

64.

66.

67.

68.

69.

70.

71.

72.

Titration between 0.1 N Na,S,0, & 0.1 N 1, is example of
(a) Acid bas titration (b) Complexometric
(¢) lodometry (d) lodimetry (¢) Redox

Calculate the theoretical yield for the preparation of benzyl-benzolic acid, if 2 gm benzyl is reacted ?
(MW of Benzil = 210 gram/mole, MW of Benzylic acid = 228 gm/mole)

(a) 2.17 gm (b) 1.0O85gm (¢) 21.7 gm (d) 0.85 gm (e) 0.79 gm

25 ml standard 0.1 N succinic acid is titrated against X N NaOH solution to give'end point
at 24.5 ml then the normality of NaOH is

(a) 0.0098 N (b) 099N (c) 096N (d) 0.098 N (e¢) 0.0096 N
RCOOC:HS + NaOH — + Ethanol.

(a) Sodium salt of acid (b) Carboxylic acid
(c) Aceticacid (d) Ethyl acetate(e) Methyl acetate

Preparation of the p-nitro acetanilide is reaction.

(a) Hydrolysis (b) Oxidation (c) Reduction (d) Sulphonation (e) Nitration

To prepare 100 ml Standard 0.1 N succinic acid solution gm succinic acid is
required.

(a) 0.059gm (b) 0.0059 gm (¢) 0.59 gm (d) 1.18gm (e) 5.9gm
Nitration of the acetanilide mainly occurred at < ‘position.

(a) Para (b) Ortho (¢) Meta (d) At Anilide group

(¢) None of these

Aniline when heated with Zn in acetic acid gives

(a) Nitro benzene (b) »Acctamide

(c) Para-Nitro Acetanilide (d) Aeetanilide (¢) Acetonitrile

Choose the name of preparation which invelves nucleophilic substitution reaction :

(a) Benzylic acid (b) p-nitroacetanilide

(c) Dibenzalacetone (d) Benzalacetonc (¢) None of these

Choose the name/s. of preparation from the following which does not involve
rearrangement :

I. benzylic acid II. p-nitroacetanilide

I11. Acctanilide IV. Dibenzal acetone

(a) 1,11, HI (by LI 1V (¢) IL LIV  (d) LILULIV (¢) None of these

In TLE experiment solvent run is 6 cm and distance moved by analyte is 5 cm, then the Rf
valug=

(a),.0.083 (b) 0.833 (¢) 1.2 (d) 0.833cm  (¢) 0.120em
Use of is banned due to its use in narcotic business.

(a) Acetic anhydride (b) Acctic acid

(€) Acetyl chloride (d) Acetonitrile (¢) Acctone

= having diketone group.

(a) Benzylic acid(b) lodoform  (c) Benzyl (d) 2 Butanone

(¢) Dibenzal acetone *

Dibenzal propanone is prepared from ;

(a) Benzyl alcohol & acetonc (b) Benzaldehyde & dimethyl ketone

(c) Benzil & Acelone (d) Benzal - di - chloride & dimethyl ketone
(e) Benzophenone & dimethyl ketone
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73.

74.

70.

11

8.

.

80.

81.

82.

83.

84.

85.

86.

Estimation of ketone is

(a) Iodometry titration (b) Todimetry titration

(c) Both lodometry & lodimetry titrations (d) Complexometry titration
(¢) None of these

In thin layer chromatography distance travel by the solvent is 6 cm and the RF value is
0.75, find the distance moved by solute.

(@) 4.5cm (b) 0.45cm (c) 4.5m (d) 5em (¢) 0.5cm

2.4 gm of P-nitro acetanilide was obtained from 2.75 gm of Acetanilide Caléulate %
practical yield if the theoretical yield is 3.6 gm.
(a) 50% (b) 55% (c) 60% (d) 66% (e) 70%

How many moles of Aldehyde is used for the preparation of dibenzal acetone 2
(@) 5:2mole  (b) 3:lmole  (c) I:Imole  (d) 2:1 mole 4. (&) 2:2mole

End point in estimation of Acetone with starch solution is detected by
(a) Appearance of blue colour  (b) Colour change from bitie to colourless
(c) Appearance of yellow colour (d) Appearance of pink colour

(¢) Appearance of violet colour

hydroxide is less hygroscopic than other alkali metal hydroxide.
(a) Aluminium (b) Lithium (c) Potassium' (d)  Sodium (e) Zinc

Adduct is product obtained during reaction.
(a) substitution (b) elimination (c) addition ~ (d) rearrangement (¢) isomerization
Reaction between furan and maleic acid is example of reaction.

(a) Oxidation (b) Reduction (€) Dielsalder (d) Condensation (e) Substitution

Which stain for visualization is used.in Thin layer Chromatography ?
(a) KMnO,, lodine, Neutral FeCl, (b) KMnO,, lodine, Neutral FeCl,, Ninhydrin

(c) lodine, Neutral FeCl;, Ninhydrin (d) Bromine, KMnO,, lodine, Neutral FeCl,, Ninhydrin
(e) Bromine, KMaO,, lodine, Neutral FeCl,

Which coating materialds used on TLC plate ?
(a) Cellulosc” (b) Polyamide (c) Polynitrile (d) Silicagel G (e¢) All of these

In estimation.of ethyl acetate 1000 ml IN NaOH = gm ester.

(a) 88 ¢ (b) 8.8¢ (c) 0.88 ¢ (d) 0.088 g (e) 0.00088 ¢
Estimation of ester is based on the principle of :

(a). Polymerization (b) Reduction with Na/Hg

(¢) Acidic oxidation (d) Alkaline hydrolysis (¢) Condensation

How many pi-bonds are associated with Dibenzal acetone ?
(a) 3 (b) 6 (c) 7 (d) 9 (e) 10

Which solvent is used for the preparation of Dibenzal acetone ?7
(a) Aceticacid (b) Ethyl alcohol(c) Methanal (d) Benzaldehyde (¢) Acetone
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87.

88.

89.

90.

.

92.

93.

94.

S,

96.

¥i.

98.

100.

Standard solution of which substance to be prepared to dcterminc#n::mnzflily of NaOH ?
(a) Standard solution of FeSO, (b) Standard solution of succinic acid

(c) Standard solution of KMnO, (d) Standard solution of iodine
(¢) Standard solution of EDTA

Which indicator is used in volumetric titration of NaOH v/s HC/ ?

(a) Starch solution (b) E.B.T. (¢c) Phenolphthalein
(d) Diphenylamine (¢) Xylenol orange

Chromatography is used for
(@) Number of component present (b) Isolation of component

(c) Purification of compound (d) Determine progress of reaction (¢) Al of these

Reaction of acetanilide with conc. HNO, & H,S0, is the example 0[' \

(a) Nucleophilic aromatic substitution |
(b) Electrophilic addition reaction (¢) Nucleophilic addition refetion
(d) Rearrangement reaction (¢) Electrophilic aromatic substitution

Solvent rises up on the TLC plate due to : ,
(a) Adsorption (b) Absorption (c) Capillary action
(d) Surface tension (e) Repulsions

In TLC, components of mixture are scparated dependingon their .
(@) Molecular (b) Density (c¢) lonization (d) Polarity (e) Solubility
component move faster on TLC plates”

(a) Polar (b) Nonpolar  (¢). Selid (d) Liquid (e) Gas

Rf = distance travelled by

(a) Component / Solvent<» (b) Solvent / Component
(c) Component / Solute (d) Solute / Component (e) Water/ Component

Acetaminophen is also kfiGwn as

(a) Aspirin (b) Paracetamol (c) lbuprnl'en (d) Ecosprin  (¢) None of these
Aspirin is acetyl derivative of acid.

(a) Benzoic ¢ (b) Oxalic (c) Salicylic  (d) Cinnamic (e) Citric
Molecular aveight of Citric acid is than its equivalent weight.

(a) same (b) double (c) half (d) 3 times more(¢) 4 times more

Solvent in development chamber is called .

(a) “Mobile phase(b) Liquid phase(c) Fluent (d) Developer (e) All of these
Todetermine M.W. of unknown acid. indicator is used.

(a) Starch (b) Eriochrome black tea (c) Methyl orange

(d)«Phenolphthalein (¢) Methyl red

M.W. of oxalic acid is 126 gm/mole. How much oxalic acid is n.qmred to prepare 1 N 1 lit
aqueous solution of it ?

(a) 63 (b) 126 (c) 12.6 (d) 6.3 (€) 16.3
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